QINGGONG

SEasEIN
AR

THAT

IEJ_

I 5% 4715 &%

 MODEL |

GK68-2
GK68-2H

s kg LA 184 4] |

=== HEBEI QINGGONG SEWING MACHINE CO.,LTD. §



GBS, A BTRIEZARURE OGN

Make excellent productd,and successively exert the core capability for technical

/A I I

AL T A% 20 LA R 2> W) 2 % 7 e B K M b I BR i i 22 U B T i B
REFEMUEINN T K, F-RREAIL. Wik, BRI 1.87 &
£, TREHK., T, HEEBAIERAMKX, J"RIFITF. ELDFHK
i E SE RO Pr 2 N E b T B KA DML AE =) K, H T20104
Wb TRATEHEMRIPRIEE “FARR" RERS. Bl ZREK
J PR I R B REALR T IR AR B S BRI BER SN — e 3R
Al .

AR EFHE T IE 6 MRS 20 A0, LUEREAR
FEPEO®TR, HRfE. ERE, DAAOARFL L RRZA, Bigh)”
REPFREBETIRS . SRR REET T RE . SO & J7 B &k A%
PR, iR 5 .

Hebei Qinggong sewing machine Co., Ltd. is located in Bohai city economic circle
around Qingxian County in central Hebei earth,Is the production of overlock sewing machine
of professional manufacturers, with an annual output of various types of sewing machine,
conveyor, bag making machine 18000Set, productsalesin Europe, Asia and Africa, Latin
America more than 30 countries and regions, the wide acclaim. For many years by the China
Sewing Machinery Association statistics as the North's largest overlock sewing machine man
ufacturers, andin 2010By the Hebei Provincial Administration of industry and Commerce
Committee of Hebeiprovince "famous trademark” honorary title. Has now developed into
Modern machine and parts design from product development and manufacturing, quality
control, customer service and service as a whole.Enterprise.The company production of

Qinggong brand sewing bag sewing machine has 6 series more than 20 varieties, to meet
notWith the needs of customers, in good faith, quality, people—oriented is the young worker
factory development, dedicated to the broadTo provide quality services, customers and seek
common development is the tenet of young workers. Warmly welcome all friends to come

toLetter, business negotiations.



1. BLABOEEEH, R e

2. PRANG. £H. HIERHARSHK
E=n e R

I T A R——————

= 12

- 13

14

- 15

- 16

- 17

1. The main structure, characteristics and uses

of MACKINES ---wrrreermmrr o

2. Styles, names, performances and specifications

. of machines --.--oeeeee

FHmsmsmmssenssssmsesasssssssanttstsnasanasasanans

1 Caltion DEfore une s itsnamiis s

2. Lubrication sascmnimimiienvaioneicai i palaiiia

3.Selection of the needle and thread, threading ..........

4. Inserting the needle ---------wsremrremmemsrsnene

5. Setting the looper

6. Setting the height of the needle bar ---------rooeovoeeeaes

7. Setting the needle

guafd L R R

8. Setting the feed dog ---------ceomreerre o

9. Changing stitch length -

10. Setting presser foot pressure --------coeemscesssseennne

11. Setting thread tension -« -woreeseemmrosiinminissnencce s

12. Setting looper thread take - up ------eeeemeereeeeesnens

1. Machine body and

13. Setting machanical thread chain cutter ------------eoeo

bushings -------reoeeneseasmnmacmeeeees

2: COVEIS v--vmerrmsnmmtsnnmeneiiass s tsasen st snannssasmnannas

3. Miscellaneous thread guides --------eomeeemeesammnnnnnnnne

4. Main driving mechanism parts ----------ceorummmrnamncnins

5. Looper mechaniSm - covermmmmmmmirr

6. Feed mechanism: - «-----wssrsmsmmmmsacscen s

7. Feed dogs, throat plates and presser feet -

Inside back cover

Machine installation

dimensions drawing

1

3

3
4

~ N o o o

@ o o

"

12
13
14
15
16
17



Lubricating points




1. NBNEBEH., BRERAR

GK68—-2RISE M AE AN —Fh i TAEhI RS 4E, PiisiRi % Ats, dleTmsariEL,
HFRAE . ATST MR RALS . 5. MSSaENHN%Y). ZNFEEZRERAEE S RER
AEEHRRSETEE . M2 lAREEERe A EEE. EZIREERMEA, B TH. FiRA
T4t R R, BT MRS,

1. The machine's main structure, characteristics and uses

GK68-2 is a type of sewing machine for sewing FIBC reinforced rope, impervious strong special equipment
can also be installed in the column on the conveyor, used infood, chemical and other industries of plastic woven
bag, paper bags and other packaging sealing sewing. Change the main components made of copper alloy and
high-alloy steel, high wear—resistant materials. Coupled with oil cup penetration woolen lubrication oil storage
devices. So that the machine can tell use, improve work efficiency. While using a semi-enclosed structure and
easy maintenance, easy to use and maintenance of users.

2. FRES. 8. HEREASH
GK68-2 B #fu4E2) 1l

EHNBABN B EETMAELNENRBY T . ZEANSHIHETHE, FREEE —BX
ﬁ.%ﬁﬁﬁﬂ%#ﬁA#ﬁﬁnMwwmmﬂﬁﬂﬂm.m#mﬁﬂﬁﬁimAlﬁﬁu

2. Styles,name,performances and specifications.
Model GK68-2 bag closing machine.

Equipped with mechanical thread chain cutter which make reciprocating motion by running of the machine.
The bagbeing fed into the machine will continue to sew a length of thread chain after closing the bag. Push the
thread chain to gether with materials into open slot in the throat plate to cut. Start and stop of the machine are
operated by hand.






O 0 N o R W N -

—
—_— ey

FTERARSBH

B e 4R )
BoKgY) R
&t BE V8 17 L
U 21 37 3 e
45 4% i
HE B3R 7t
PLEH B
EHRER
R %
PLaSE R

PLES 5P B R
(K = 5= H)

2000r/min
10mm
8-14 mm
LR, WLk eER401
6t VA b 3% 3 R BB 4R
15mm
250%* ~ 400%
¢ 114mm
370W4P
30Kg

350 x 215 x 440(mm)

(V=T .S I - NV, R - A O

—
—_— o

Max, sewing speed

Max.sewing thickness

Stich range
Seam Specification
Thread type

Presser foot lifting height

Needle No.

Workiflg dia. of pulley

Motor power
Weight
Size (L x W xH)

Main specitications

2000rpm
10mm

8-14 mm

one two thread double lockstitch 401
more six line polyester or nylon ropes
15mm
250% ~ 400#

114mm

30kg
350215 x 440




1. ERAMEEER

FRFHEAMIE, EEANAE-KERERE, WREELRMHMAE, HEHR
B mALEALI N B20000 0. AT IO R R, RESHESREHE, BERI
T 75 1) BB S AL AR 3 ¥ 0y i — BUS R sh L8R AT ik 4k .

A AN BARERS . KBEHTHRERT, EFR. . ASERBHZN
MUIBTRE, KekERBERAETHEFR.

1. Cautionbefore use.

New machines or through long time storage machines must be cheeked before operating. Cleaning the anti—
rust grease and dust on the surface of the machine. and filling sewing machine oil or 20 # oil at oil cup and oil
holes. Turning the pulley clockwise by hand. Check for free and coordination. Check moror to tating direction for
the same as that of the machine running. Then starting the machine for test sewing.

For automatic style machine, check electrical equipment, circuit and pneunmatic cell for good. Before thread-
ing, filling oil, adjusting or replacing parts. all power source must be cut off to prevent personal in jury.

2. Ak
ERVAERSE, TEKEHSE®. § TEAETHAEE LFRKEEA (B1) EEskfEmn
2K, FEFBEB L. TRHE MR BTN W, A% TGS h2E3R M.

2. Lubrication

Routine maintenance is important to maintain long time use. Machines have to be cleaned and lubricated twice a
day on the lubricating poins on the oiling diagram(Fig. 1 ). making oil fell soaked in oil. The sight feed oiler or oil
sprayer has to be kept filled and should be adjusted so that it feeds two or three drops of oilper minute.



3. Y. BEBRERFESE

B 4 4% 10 6 1 R AR 8 4R 0 R AN B OR BOR T &, WLET SRR R R1G E MR L HERER

HAEKMGZ—. PAREER, SENARBHBRE,
% (E2) FIRWF#TFR, BRS5RA
HLEH IR R B EHFLAS0Z XK (2 3=~F) ZHEAT

3. Selqtion of the needle and thread, threading.
Selection of the needle and thread depend on quality
and technical demand of sewing material. Good
combination of the needle and thread is one of the basic
condition to get perfect sewing performance. The needle
point must be sharp. and thread must be strong enough.
Thread machine as illustrated in Fig. 2, draw out
upper and lower thread from needle eye and looper

hole about 50mm (2in. ) .

4. NEBRE

PEH BB ZH, LEIRVIEEMR, FRE
PEsk A, RSESBTE . MREFE, BER TR
CfEEHFF EA B S, RRFIRRE (Es,
A) e bBrEE, BHRLAUEASHATFLER, IR
) 11 ThD A A S BT RE T s PR AR A

DY

& — ] @

B3 kg3

4. Inserting the ncedle.

The needle is vulnerable part.
When the needle eye wear out
obviously. Needle point wear
dull or bend. replace the needle.
When replacing the needle,turn
the pulley until the bar reaches
its highest point. Loosen the
needle set screw (A, Flg. 3). And
inserl a new needle wilh the shank
as far as possible into the needle
bar. The needle groove must point
to the sewing material direction.

Then rotighten the needle set screw.



5. THAVHE
BH M IET A& T S BET:
(=) HEREWERF (B 4, A), BB ERBA(X) 002 8] FE 469, 85K (24 %), WY #r

AR (B, WURE SR8 e E B AT (A OO BESEHFAER)EHBBRE,
ER: AHEREEARIRL.
5. Settingthe looper.

Setting the looper as follows.

(1). Firstsetthe looper conecting
rod(A, Fig, 4),so thedistance (X,
Fig, 4) between the centerlines of

the two ball joints is 69.8mm(1 3/4

min.). Foradjustment loosen the two
nuts(B) and turn connecting rod (A)

forward or backward as required to

obtain specifled dimenslon.Retighen
nuts(B). Caution: The left nut hasa
left hand thread.

C2) R F GRS &t 7 1) e % B
W, FHFTEEREA, ANSHBERADME, WEZE (E5, A RAKE B g
LEER HBREK (5/16F~F) o WM S MMM LBAET (O . EAESHEH MM D) ,
W EREMRAN G /BT BB © .

PERC: HFRMRET (O MY, T TR IR TR e 7 S W T G AR T, A4 B0 R O
BRKMERK. (RUFEREHEDSRERS)

(2).Rotate the machine pulley clockwise by hand, so that the needle bar moves to the lowest point, at the same
time the looper moves back to its farthest position to the right. The distance from the point of the looper (A,Fig,5)
to the centerline of the needle is 8mm(5/16in). For adjustment, loosen two screws(C) in the looper drive lever, rotace
looper drive lever(D) left or right as required to obtain specified dimension and retighten screws(C).

Caution: Pull looper drive lever rocker shaft back tightly when tighten screws(C). So that the end face of

the looperdrive lever rocker lean against that of shaft bushing, assuring that all end play is taken out.(Otherwise it

will make noises.).

(=) RLE¥eah peimie, fE2 & (E5, A) I A 1) 22 0E 3 i 523 HL e 35 16 1) 76 4 3 o ifi] AR 49 2
fih, 3L7E)BROMO. 08%EK-0. 13582k (0. 003F0. 005 ~}) (W6FFR) . 8 N2 & AR EH
(B4, C)RER4ET (B4, D), %% TAEE £ [a 6T 2K 7] Jo 38 30 A\ T 5 20 25 61 48 50 (B4, E) F 37 B 8847 (D) .

(3)Rotate the machine pulley so that the looper moves fronl right to left. The looper point should pass as close
possible to the back of the needle without contacting 0.08 -0.13mm(.003 to. 005in. ) (clearance). For adjustment

loosen screw(D. Fig. 4)in the looper eccentric fork (C) and turn rocker shaft (E) on the looper rocker with looper

forward or backward as required. Retighten screw (D).

—5—



6. $FFEEBT

HTFHE, BEERIETHEFNES, EBHETELY, YTHRBENE HB1~1. 558X
(0. 040F0. 060%~F) I, WA MR E&BAMEHOEAFF (BTHR)  HEILTEERN,
PR AP S YT IRET (B3, B) , FTEBHHTEESMERETE®E B , HEFE LR

6. Settiing the height of the needle bar.
Removethe needle plate. Rotate the machine pulley in operating
direction until the looper moving to the left. When the looper point projects
1-1.5mm(.040 to.00in.)left of the needle. lower ednge of looper and upper 0.08-0.13mm
edge of needle eye must be flush in this position (Flig.7) For adjustment,
loosen clarmp screw(B,Fig.3) in the needle bar up or down as required.
Retighten screw (B) and remout needle Ipate. )
7. MAHSHRET | B6 Ig.6
BN BT ROEELEER -8, SRSk W2 A 75 il 2R 4 bR, T
PLEHE3R (ESE) WIAT&BRF1EA . B& MEBEH0. 08~0. 13%XK (0. 003%0. 005%~}) ,
(E8FT/R) « WERGEWRIL T M), EHERREENEH, FRFEE (B5 F) RE
AT (6) , BEHLAER (B) E&E MG FiT BIBE G .

7. Setting the needle guard.

The needle will bend or break when abutting bags made of
different thickness of sewing material. And the needle guard (E, Fig.
5) will protect the needle. The clearance between the needle and the
needle guard is 0.08 -0.13mm(.003 t0.005in. )(Fig,8). For adjustment,
rotating pulley in the direction of operating, so that the needle guard

moves against the needle. Loosen set screw(G) on feed dog holder(Fig.5),
74Fig.7 move the needle guard accordingly. Retlghten screw (G).

8. BT RE

WIS RE S EREMEERF (B8, A M. T THAK. W EIURSMR, iR
AR (D) LFE1. 88K (0. 070%~F) , BRESZA2. 22K (0. 090%&~F) , WBEM LRERF AT
N, EHFERREECE . HEENEE Y SORET (O 5, EFELEXEFMER, JF
B E/NAERE (B) .

38} OF 76 414 I 1 P 60 5 00T () BRAS KRR, FRAASF AR (19, O BRERET (D) , AL B
BT 4 B 3 R AL B JE 14T R ARET (D) .
8. Setting the feed dog.

The height of the feed dog(A, Flg. 8) are derermined by the quality and thicknees of the sewing materials. For
closing thin material such as bags made of cloth and plastic, teeth shouid project 1.8mm(.070in), above the throat
plate(D) top surface, and for sacks baout 2.2mm (.090) above the throat plate. For Setting, move the feed dog to
the highest position, remive throat plate and feed dog, adjust the supporting screw (C) as required, remount the
feed dog and thrat plate. Retighten rews (B) .

If feed dog are not in the center in the throat plate slots, Loosen screws rearin the feed locker (C, Fig.
9),move the feed locker right or left as required. Then retighten screws(D).

_6__



9. HEKEBD

HEEKEREY, BELT S
B (E9, C BEMPRIEEMY
BE (A METFTBIRLRAK. T
FEBRE] (A fEEFEEMOK, F W 4E
REHRE. WATR AR B) . E
TEIHEE A EFENHEGH
FE8EE (B) . (EahBLmpL s
TR A

TER: B EE R AKE 2 fE HLE Y

LiPLEr R BR R A4, 1 AR X

% .

10. Seetting presser foot pressure.

E .
|

0.08~0.13mm B8 Fig.8

9. Changing stitch leength.

The length of the stitch can be adjusted by raising or
lowering the stud(A)in th segment slot of the feed locker
(C, Flg. 9). Lowering the stud will shorten the stitch.
After loosening nut(B), Stud(A) can be movedaccordingly.
When the desired stitch length is obtained, Retighten nut(B).
(For automatic style machines the cloth plate should be
remoed to adjust)

Cutlon: Any change in stitch length will necessltate
acocrrespnding change in the needle guard and nee-
dlecearance.

10 EWEDBT

FE B FRS 00 B9 K /N, HROBR T 406} 11 5 E , 4 v 3%
BRI 1 R2Z, WK S . 44k H#
K, BRI RO ) TR 77, BA R WAL,
PrEEBY . VT IR ) BERE S R A R IRE (A1,
A) FTMKIES, Tt s> K ).

Presser foot pressure are determined by the thickness of the sewing material. When sewing thick materials, de-

crease pressure; When sewing thin materials, increase pressure. When feed sewing materials smooth 1y and stitchs

are uniform, don” tincrease pressure, to reduce parts wear. For setting pressure, turn two collar in to incresae

pressure, turn out to decrease pressure,turn out to decrease pressure.



11, @K HWT
4545k O B £k 2% (B0, B.
C)Ys, HEHWMEL(B) KN EILEK
£ (C)HITK h K. BEHE I 4 28 1R 8
(B. CMffsk A1 K, Feth WmD.
ERAYELK NG, RENA
BRAIR, NAAY LR A NHOD)
e . RN g & AT D)
R AT B AT (B) TH B B
MEIRERZKERE.

@10 Fig.10

11. Stting thread tension.

Thread tension is adjusted by thread tension assembly(B. C. Fig. 10). Tension of upper thread(B) is generally
stronger. Than that of lower thread (C).Turn thread tensioner ntu (B. C)in to increase the tension, turn It out to
decrease the tension. If the stitch is still not good, should adjust the height of thread adjusting bar (D). The height of
the thread adjusting bar (D) is at the same level with the thread eye of the needle bar connection at its highest poition.

12. THREINABBE

e mkLE R (E
11, O ML (ADAK. 2l X
HFRBRRAANHZSHEBROLZR, Hl
BT ZE T4 FH1EX(.
0403 ~) AN Z B, JRER B NS
ks (A BB, A ®
BT RAT (D), THE T
AN TTERELERER, KT
RATR RN B . I BB BT
(D). IEHVEY & MR L&,
SHEBEPERRET T EER.

®11 Fig.11

12. Setting looper thread take-up mechanism.

looper thread take-up mechanism consists of looper thread take-up (C, Fig. ) and cast-off hook(A). When the
needle falls down into the loop formed by loeper, the point of the descending needle is flush with the lower edge at
looper or projects up to Immy(. 4oin. )below the lower edge of the looper. At the same time lower thread is released.in
R angle (B) from the cast-off hook(A) of the Looper. For adjustment, loosen(D), rase the looperthread take-up(A)
to delay releasing of the lower thread; lower the looper thread take-up to move up the releasing of the lower thread.

Retighten screw(D). It is very important for stitch forming to adjust thread take-up correctly.

_8____



KR

Er A = el

antal

REMFALBEST (E25R)

1. 1.
2. REHLE 2. KEHL
3. BARKNKE, HARFE 3. WAARME S
g | 4 HREEAS, RARERE 4. PERIREOHEHER
5. MUAHFLEHRAL S B4 A BRI 5. MBS
6. HlEH ST MES MRS R 6. HHUMERER 5 HY
B 7w, PR RS AR 7. HRREREFAY
8. R FHRAY 8. BEPHIER
9. FEMIE itk 9. BHAEME
1 AL IR 4 R R A L ARSI
Bk | 2 HHSEEHEHLERARNE 2. HebLHE 8 ER
3. HLEHAR D R B R4 3. VAN R E S
g | 4 DAL SR, BARY 4. BN RS, 2 TR
1. BB 1. S
ﬁ 2. Hlbt5 A AREEE S5 P A B 2. A6t ] 1] B
8 | 3 WERSEERT T 3. VNS R R M )
4. HEHEETER) 4. Bk
4 # . . .
T |1 NHRLBERERNE 1V B R
'g% 2. IR At K 2. JAMFBMEH
1 y
R | 1L BHEHERAEREE LR A T AR
‘ﬁﬁ 2. B ICL A IE 1t Ko/ 2. VK AR A
g 1 B o i O R 1. R R RO
o 2 EREARA 2. MMEMES
w3 BRI ERETHARS 3. FPEWAT
¥ E
*F | 1. EBEAAN L ERERE, MiERE A
EFE 2. ERMUKEANGE, HARK. 2. HE MR
% _ 3 L. HERERERAFEREREFAER,
5 | erman )
® | 8 EEhEeAskm 3. VR TSSO
W | 1 SRS BUER Rk 1. T A
| 2. BEBETIAEHER A R R 2. PR TR ARAT
X | a3 mEsARHH 3. WRMBEALE, YA SN




[II. Trouble—shcolllg

l.Imopr threading

2. Thread jamming

3. Thread tension are too tight

4. Uneven threa, not sirong enough

5. There are thread, not needle eye, throat plate hole

1. Rehread followng instruction (Fig. 2)
2. Ceek and resolve

3. Release thread tension

4. Select good quality thread

5. Grind or repalce
Thread and loope P
Hreali 6. Motion of nedle and looper are not consistent 6. Adjust as requirgd
reaking - g
7. Needle strike needle guard or lOOpel’ 7. Adust as requ“'ed
8. Feed dog teeth are too sharp 8. Wear teeth dull
9. Excessive presser foot pressure 9. Decresae pressure
1.Improper setting of needle 1.Adjust needle
. 2.Motion of needle and looper are not comsistent 2.Adjust as required
1 in
CPHs 3.Position if needle is too high,looper 3.Adjust the height of needle or replace
4.Thin needle, rough thread 4.Replace needle or thread
1.Needle bent 1.Replace needle
Nddele |5 Needle strike looper or needle guard hare 2.Adjust the play
Breaking 3.Bag feeding speed is faster than sewing speed 3.Adjust feeding speed or sewing speed
4.Thin needle closing thick sewing materials 4 Replace needle
Neddle . ) o
Thread |1.Insufficient needle thread or excessive needle thread| 1.Adjust the height of thread adjusting bar
Tension |2.Improper needle thread tension pressure 2.Adjust needle thread tension
Uneven
Looper i .
Thread |l.Insufficient looper thread or excessive looper thread| 1.Adjust position of looper thread take-up piece
Tension |2.Improper looper thread tension preaaure 2.Adjust thread tension pressure
Uneven
Feeding | 1-The surface of feed dog is too low or the surface 1.Raise the surface of feed dog or replace
Material | e4r Out
Sigatiit 2.Presser foot pressure is too small 2.Increase pressure
g 3.Set screw of feeding cam loosen 3.Tighten screw
Upper And .
ower 1.press foot pressure is too small o 1.Adjust o increase pressuze
Material |2.Presser foot surface are not smooth, friction is too 2 Plish f
AreNot |big .Plish presser foot
InALever
1.Cheek assembling clearance step by step, and
The 1.The machine assemble bad adjust o PP
Machie |2.Driving pulley is too tight 2 Rel 1 .
Run Hare {3.Moving parts lack if oil DIGARe JULEY DrOpeLy
3.Cleaning and oiling
L 1.Driving are vulnerable, leading to clearance increasing 1.Replace parts
Nar'iz 2 Set screw loosen, leading to parts striking each other 2.Tighten screws
01s€s

3.0il connecion are not smooth, lacking of oil

3.Cleaning and oiling




D EBFFTHZIR

EXPLODED VIEWS
AND
DESCRIPTION OF PARTS

n#&sSHE
Machine body and bushings

IR i
" g

1 1001 4 7 =X AR Slight feed oiler 1
2 3501001 1 4 BB Oil cup base 1
3 403 S i BEETMS X 6 Set screw 2
4 3501002 FHALH HE Bushing for needle lever shaft 2
5 3501003 KL AT i ed S Plug screlw 2
6 110 Bl K Sk 4R 4T M5 X 12 Screw 2
7 3501004 AT LA EE Needle bar upper bushing 1
8 3501005 T & Needle bar lowr bushing 1
9 351006 JE B AT F b Presser bar bushing 2
10 605 PN SRR ATMB X 16 Screw 2
11 606 N A IR ATM10X 25 Screw 1
12 3501007 % 5% Base cover 1
13 3501008 e Base 1
14 3501009 [ 2k Crank shaft bearing housing 1
15 3501010 g 3 Plug screw 2
16 509 HE 3 BR FTMB X 25 Stop screw for crankshaft bearing housing 1
17 3501011 X % Bushing for crankshaft 2
18 3501012 BE RS ME Looper shaft hushing, right |
19 3501013 TEHE Bushing for looperdrive lever rocker shaft 2
20 3501014 prp S HE S Feed locker shaft bushing 2
21 3501016 55 LBl AT R E Looper shaft bushing, left 2
22 1002 ¥ b Naxne plate .




naEsHE

Machine body and bushings




10

11

12

13H

14

15

16

17

18

19

3502017

3502018

111

3502019

3502019H

109

3502021

109

802

3502022

3502024

3502025

109

3502026

3502026H

3502027

3502028

3502029

403

1001-1

1001-3

EXERTPH

Covers

iR F
LR

Bl A L 4R 4TMS X 15
o5

B R

(Bl HE Sk BB 4TMS X8
AR

[ A Sk #R4TM5 X 8
FHE o5

7 55 BB BT AR
BIEH

PAER AR

Bl £ 3k 8 4TM5 X 8
# 0

®n

T

L

I

F i 4R ETM5 X 6
T A o6

38 o b AR

Screw

Arm cover

Screw

Coth plate

Coth plate

Screw

Face cover

Screw

Washer

End cover

Hinge pin

Guard

Screw

Hinge cover assembly

Hinge cover assembly

Looking bolt

Looking bolt

Spring

Set screw

Pinball oil cup

Spring cover oil cup

#: HHFESHGKES-2HBEH .



Covers

BEXRSERHEH




10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

350301

101
401
3503030
3503031
3503032
3503033

404

- 3503034

350302

3503035

3503036

3503037

3503038

3503041

3503042

3503039

3503040

350303

403

3503043

402

404

3503044

o % 2 &

£ B AT B R
B A K R £TM3 X6
¥ 3 4R £TM4 X 4
KBEIANH
HRER

& A

EUAES TS

F 3 4R §TM5 X 8
&

¥ 2R 2% BR

K LR R K
KRR AL
D352 1

E %

E %

EEE
EREE
LR 35
FERH B

F i SR 4TMS X 6
il 4% kE
Fin 4R ET M5X4
- 3 4R £TM5 X 8
R AE S

Miseellaneous thread guides

Needle thread guide
Screw

Set screw

Neddle thread guide bar
Thread take-up roller
Oil cup

Thread guide finger
Setscrew

Pin

Thread tension assembly
Tension post

Tension post ferrule
Tension disc

Spring

Spring

Tension sleeve
Tension spring ferrule
Tension nut

Thread guide assembly
Set screw

Thread gﬁide
Setscrew

Setscrew

Needle bar guide




i £ 3 1%

Miscellaneous thread guides

e o,

e ittt e L .

i 5, P B
d ke i V. PP L '
.. & el
: W ! ¥ -
. |i ,:-T‘I‘- ’ i e .‘
(N - 5 | ' "
‘" = W nooon
o e "‘;-3'. i
ll M-K ‘5#.:-.:':/
.."t L1} ".l ;
i t o ;
1y i P i
'
1 ' ’4' i 8

-

p——— -



00 ~1 N oW N~

bbb R R B PR R B WWWWWWWWWWRNRBRERNRNRRNBR B = e e e et e e e = = D
OO0 Oy R W= O 00 U R W = D W0 00 W R W= O N0y B W~ O

3504045
3504046
3504047
350404
3504048
110

604

102
3504049
701
3504050
3510192
3504051
1004
3504052
3504053
350405
350406
3504054
3504055
3504056
3504057
3510193
708
1004
3504058
3504059
3504060
3504061
601
3504062
1005
3504063
201
3504064
3504065
602
350407
3504066
3504067
3504068
406

503
3510193
3504057
3504070
3504071
405

502

T HERPHNMLEEHE

FLFF B0 9 B A

B FF AT HF

[ FE S8R 5T M5X12
WA ERET M6X16
[ A L BB %ET M4X6
it £k £

B M5

Bt FF 32 Bl Y

HEH YRR
EFFF /N EF Y

W ABdle5
AN ERT

EF FF KL AT b
EFEM B R

% FF LB 3k Bk
A Lk

7 BRET

B ERL

& R

5 ) HR R

8 M10X1

A b5

& FF B2 HF

T 8k

i b

+ 7

NN SKBRET M5X 12
AR E

B 7&6250
& JE o5

Uik BRET M4X10
g

3

WS f Sk 8847 M5X 14
K& K
K EE
b7 SR ET

25 £ KA L

F g BRET M6X8

- HE NG SREIM6X 10

F (] 4R 4R 42
SRk

K I FF BK Sl 2K

B AR O
i8R E] M6X4+5
HE NG BRET M6X6+5

Needle

Needle clamp nut
Needle bar

Needle leverassembly
Needle lever

Spot screw

Screw

Screw

Thread guide

Nut

Needle bar connection
Coupling bot

Needle bar link pin
0il Wick

Connection link
Needle lever assembly
Needle lever shaft
Needle lever ball link
Shell

Screw

Ball stud

Guide fork

Guide plate bolt

Nut

Oil wick

Needle lever connecting rod
Shell

Crank shaft
Woodruffkey

Screw

Bearing bushing
Bearing

Bearing cap
Countersunk screw
Pulley

Washer

Screw

Looper drive eccentric assembly

Looper connection bar
Screw

Looper ceecntric

Set screw

Spot screw

Guide plate bolt
Guide fork

Ball stud

Looper avoid eccentric
Set screw

Spot screw

— e P et e e e = R = e e e e L) e e e B e e e e BB = e A e e e = = B OB = = e e BB B e e e e e




x I 3D AL 43 B8 1F

Main Driving Mechanism Parts




=TT - R

B b b b B W W W W W W W W W W RN NN R N BN B OB B i et e e e b e i et e
W RN = ©C O 0N R WN = O W00~ bR WK = O D0 = oA WD -—D

3505072
602

501
3505073
604
3505074
3505075
3505076
3505077
3505078
101
3505079
402
3505080
1004
707
3505081
350508
3505082
3505083
3505084
402

704

105
350509
350510
3505085
3505086
3505087
702

703
3505088
702
350511
3505089
3505090
3505087
702
3505092
601

603

104
3505093
3505094

SHNBEH

Looper Mechanism

A AT

WS A SKIRET M5X 14

HE S ERET M5X6
HE A R}

WS AL BRET M6X16

& /N O 48 AT
R

E W

25 & /N o0 I FF
EHBH
Bk L 4R 4T M3X6
4 M

S UR 4R 4T M5X4
e

M 4 o5

58 M8X1
W& &
BH R B

B kT 42 HE
4 42

HE T 2 A& 4K

3 Ui 4B £TM5 X 4
B M6X0. 75X 3
B 4% Sk 4R 4T M5X6
/N FF B R

L NER BR
5 47 9R 4T

e & N
Bk

M6

$2 14M6 (/)
INERF B

W% M6
AN EF B R
BB NEF
EHBE

BR A 3k

42 FFM6
&S dh W

W N A1 S8R4T M5X12
AN AL ERET M5X16

B A Sk 4R ETM4X 12
ERIE 37
5

Rocker for 1coPer drive shaft
Screw

Spot screw

Nut

Screw

Rocker for looper avoid eccentric
Connecting red pin

Felt for looper avoid eccentric
Connecting bar for looper avoid eccenrtic
Felt washer

Screw

Collar

Set screw

Looper locker shaft

Oil wick

Nut

Looer for two thread double locked stitch
Looper locker assembly
Cone stud for 100per locker
Looper locker

Cone

Set screw

Nut

Screw

ball joint assembly

Shell

Screw

Shell

Ball stud

Nut

Nut (1eft)

Connecting rod

Nut

Ball joint assembly, right
Shell

Felt washer

Ball stud

Nut

Looper drive lever

Screw

Screw

Screw

Looper thread taker-up

looper drive lever locker shaft

L T e T T S e N Y PR G YOS G U U G S




THNHH

Looper Mechanism




10
11
12
13
14
15
16
17

18

19.

20
21
22
23
24
25
26
27
28

29

3506098
403

101

103
3506099
3506100
709
3506101
902

406
3506102
3506103
3506104
105
3506105
3505079
105
3506107
350612
3506108
3504055
3506110
505
3510196
3506111
3506112
706

504

6806113

- S |

Feed mechanism

F B

- % 4R 5T M5X6
W HE Sk 3R 4T M3X6
B A L 4R 4T M4X8
#F X

EH

JEAR & M5

% B

BB o5

S 3 4B 4T M6X8
k1B

F B

F 5B
B+ Sk 48 4T M5X6
3% %

=l

[ A K R 5T M5X6
B R A 1T IR ET

B BHEF B R

R

B 88 5T

3256} L

HE S BB 4T M6X0. 75X7. 5
EH

EF AN HE

#

JE %5

HE VBB 4T M6X0. 75X7.5
HBF M

Feed bar

Set screw

Screw

Screw.

Feed lift eccentric forh
Oil felt

Not

Stud bolt

Washer

Se screw

Needle guar

Feed bar shaft

Feed rocker

Screw

Feed rocker shaft
Collar

Screw

Stitch regulating stud
Feed drive eccentric asernbly
Connction

Screw

Eccentric

Spot screw

Oil felt

Flange bushing
Washer.

Nut

Spotscrew

Feed lift eccentric




K19

1 Feed Mechanism




o e =3 D b B W R e

BN RN NN NN R RN e e e e e s e e e
=T - I =AW ™. T - PE R o T — B = B - - I B = R - e =]

29A

30
31A
31H
32
32H

3507124

3507125
3507126
105
3505079
105
3507128
702
3507129
109
3507130
350713l
3507132
3507133
3507134
358714
3507114
701

404
1007
3507136
3507116
607
1006
3507115
403
3507118
3507140

6807141
6807141A
202

6807142A
6807142H

6807143
6807143H

A IE AT

EBT . SRANERNG

7 K B FF

AT 38
A Sk 4R 5] M5X6
# M

B 4 3k 4R 4TM5 X 6
IR 4T

42 R}BM6

8 ®

[ A Sk 4R 5T M5X8
He 3 VA 1T iR E
He B Fe 38
16 W SR ET
HhEWRF
&

s B

s 4 #A

98 M5

- I 4R 4T M5X8
HHA#H L2
NE B

/1N FE B o 3

P 7S FERET M4X8
[ H# o2X8

i Eiak g}

¥ i bR ET M5X6
A

iz

[ B4 T A

& B R A
VULER4T M5X12
& W

# |

=BT
B M F

Fee ods thalaes an presser et

Presse bar, right

Proeer bar, left
Presser fcot guide
Screw

Clooar

Screw

Lifting screw

Nut

Guide plate

Screw

Spring regulating bushing

Spring

Stud for lifter lever
Presser foot lifter lever
Spring

Presser foot assembly
Presser fort shank
Nut

Set screw

ClMing sleeve
Chaining section
Spring

Screw

Clamping sleeve
Finger guard

Set screw

Spring

Pin

Presser foot botton

Presser foot botton
Screw for throat plate

Throat plate
Throat plate
Feed dog
Feed dog

E: AT SHEFPLBRER, FHFSNOK68-2HRE,



ERT . #ROEBNNG

Feed Gods, Throat Plates and Presser Feet

B %
>z 7




GK68-2H B LZER T H

[nstallation Measurement Drawings for the Equipment

157

LUL Il;! 80.5

380

ox!

22




The Accessories of The Sewing Machine

¥ #4 Bt 4+ A

=

1 T ) 1
2 W 7mm i 1
3 )i F 8 x 10mm o 1
4 M7 iR T 2.5. 3. 4. 5Smm 1= 1
5 e e 1
6 BRET hE B 225mm in 1
. _— 80800 x 250 ~§00 (FH) U, 1

80800 x 250" (7 A1) i, 1
8 filt i a5 A 5 A 1
9 % I 5ET M10 =4 3
10 1 $10.5 x P30 H 3
11 1} M10 2 3




